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INSTRUCTIONS TO THE CANDIDATES
The sealed questions booklet containing 50 questions enclosed with O.M.R. Answer Sheet is given to you.
Verify whether the given question booklet is of the same subject which you have opted for examination.
Open the question paper seal carefully and take out the enclosed O.M:F.-Answer Sheet outside the question
booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill upthe details in the form
of alphabet and signs as instructed, you will be personally responsible for consequences arising during
scoring of your Answer Sheet.

During the examination:

a) Read each question carefully.

b) Determine the Most appropriate/correct answer from the four available choices given under each
question. e

c) Completely darken the relevant circle against the Question in the O.M.R. Answer Sheet. For
example, in the question paper if “C” is correct answer for Question No.8, then darken against SI. No.8 of
O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. @ @ © (Only example) (Use Ball Pen only)
Rough work should be done only on the blank space provided in the Question Booklet. Rough work should
not be done on the O.M.R. Answer Sheet.
If more than one circle is darkened for a given question, such answer is treated as wrong and no mark will
be given. See the example in the O.M.R. Sheet.
The candidate and the Room Supervisor should sign in the O.M.R. Sheet at the specified place.

Candidate should return the original O.M.R. Answer Sheet and the university copy to the Room Supervisor
after the examination.

Candidate can carry the quéstion booklet and the candidate copy of the O.M.R. Sheet.

10. The calculator, pager and mobile phone are not allowed inside the examination hall.
1.

If a candidate is found committing malpractice, such a candidate shall not be considered foradmission
to the course and action against such candidate will be taken as per rules.
INSTRUCTIONS TO FILL UP THE O.M.R. SHEET
There is only one most appropriate/correct answer for each question.
For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to
alter it.
Circle should be darkened completely so that the -alphabet inside it is not visible.
Do not make any stray marks on O.M.R. Sheet.
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PART - A

This part shall contains 50 multiple choice/objective type questions, each
question carrying one mark. [S0 x 1 = 50]

I 1)

2)

3)

4)

S)

6)
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Fungal hyphae penetrate hard cell walls of their hosts with the help of
(A) Harmones

(B) Sugar exudates

(C) Enzymes

(D) Sharp tips

Iodine is obtained from
(A) Ulothrix (B) Laminaria
(C) Ectocarpus (D) Oedogonium

Bacterial genome is called as
(A) Nucleoid ‘
(B) Genophore
(C) Endospore

(D) Pili

____known as Jokers in the microbial packs
(A) Spirochetes

(B) Interferon

(C) Mycoplasma

(D) Rickettsia

The nature of nucleic acid in viriods is
(A) Double stranded DNA (B) Single stranded DNA
(C) Double stranded RNA (D) Single stranded RNA

During world war-II which bryophyte was used in surgical dressing
(A) Funaria (B) Riccia
(C) Sphagnum (D) Anthoceros




7)

8)

9)

10)

11)

12)
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Who regarded as ‘Father of Indian Bryology’
(A) Prof. K.C. Mehta (B) Prof. S.R. Kashyap
(C) Prof. PN. Mehra (D) Prof. D.D. Pant

Carinal canals are found in
(A) Psilotum stem

(B) Lycopodium stem
(C) Selaginella stem

(D) Equisetum stem

Sago-palm tree has latin name

(A) Cycascircinalis (B) Cycasrevoluta
(C) Cycasrumphii (D) Cycas bedomia
Five species of williamsonia have been reported from
(A) RajMahalhills (B) Shivalik hills
(C) Vindhyam hills (D) Nilgiris hills
Vasculum is a

(A) Xylem

(B) Plant container

(C) Phloem

(D) Traclieid

The chief additive of coffee is chicory. The part of the plant used is
(A) Dried roasted bark :

(B) Dried roasted leaves

(C) Diried roasted roots

(D) Dried roasted flowers
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13)

14)

15)

16)

17)
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In Magnoliaceae, type of fruits are
(A) Eterio of berries

(B) Drupe

(C) Follicles

(D) Eterio of follicles

Vincristin and vinblastin, the chemical substances that can cure Leukemia
are obtained from

(A) Rauwolfia serpentina
(B) Withania somnifera
(C) Catharanthus roseus

(D) Strychnos nux-vomica

In Gloriosa superba leaf tip is modified in to
(A) Spine

(B) Tendril

(C) Phylloclade

(D) Thorn

Obturator is associated with
(A) Embryogenesis

(B) Placentation

(C) Fertilization

(D) Pollination

In tissue culture of parenchyma, mitosis is accelerated in the presence of
(A) Auxinand Cytokinin

(B) Auxin Only

(C) Cytokinin Only

(D) Auxinand Gibberllin




18) The exine of pollen grain is made of
(A) Pectin and cellulose
(B) Sporopollenin
(C) Pollenkit
(D) Lignocellulose

19) An ovule which becomes curved so that the nucellus and embryosac lie
at right angles to funicle is

(A) Hemitropous
(B) Campylotropous
(C) Anatropous
(D) Orthrotropous

20) Enzymes are used for protoplast isolation are
(A) Lipase and cellulose
(B) Cellulose and pectinase
(C) Ligase and pectinase
(D) Lipase and pectinase

21) Which of the plant cells without nucleus
(A) Cambium cells :
(B) Xylem vessels
(C) Root hair
(D) Companioﬁ cells

22) A bicolateral vascular bundle is characterized by
(A) Phloem being sandwitched between xylem
(B) Transverse splitting of vascular bundle
(C) Xylem being sandwitched between phloem
(D) Longitudinal splitting of vascular bundle
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23)

24)

25)

26)

27)
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Which International agenc§ has major responsibility of looking after the
rice germplasm and its introduction.

(A) ICRISAT (B) IRRI

(C) CYMMYT (D) IPGRI

Gradual disappearance of cultivated species and its wild relatives

(A) Genetic load (B) Genetic variance

(C) Genetic erosion (D) Genetic purity

Stem cuttings are treated with IAA or NAA to promote
(A) Development of buds

(B) Formation of root

(C) Formation of shoot

(D) Formation of shoot and buds

To reduce six molecules of CO; to glucose via photosynthesis, how
many molecules of NADPH and ATP are required

(A) 6 NADPH and 6 ATP
(B) 12 NADPH and 18 ATP
(C) 12 NADPH and 12 ATP
(D) 18 NADPH and 12 ATP

Germination of seed is epigeous in
(A) Rice '

(B) Zeamays

(C) Helianthus

(D) Wheat




28)

29)

30)

31)

32)
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Genetic dwarfism can be nullified by spraying with
(A) Gibberllin :

(B) Auxin

(C) Zeatin

(D) Cytokinin

In cyclic photophosphorylation the high energy electrons are driven out
from

(A) Chlorophyll - a 683
(B) P 700
(C) Chlorophyll -a 673
(D) P870

Last electron acceptor in respiration is
A) O,

B) CO,

(C) H,

(D) NADP

In linkage maps the distance between two genes is expressed in
(A) Centimorgan units

(B) Centistern units

(C) Multimendel units

(D) Decibar units

The title of mendel paper while presenting at Brunn Natural History Society
in 1865 was

(A) Laws ofinheritance

(B) Laws of heredity

(C) Experiments in plant hybridization

(D) Experiments on pea plants
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34)

35)

36)

37)

38)

M-5282

The distoration in DNA helix due to pyrimidine dimer férmation is called as
(A) Single stranded break (B) Dick

(C) Kink (D) BER

A mother of blood group ‘O’ has a group ‘O’ child, the father could be
of blood type.

(A) ‘A’ or ‘B’ (B) ‘AB’ only

(C) ‘O’ only (D) ‘A’ or ‘B’ or ‘O’

A mutation in codon leads to the substitution of one aminoacid with

another. What is the name of mutation.
(A) Nonsense mutation

(B) Missense mutation

(C) Frameshift mutation

(D) Operator mutation

Indian subcontinental falls under

(A) Laurasia (B) Eurasia
(C) God wana land (D) Australia
Kyoto protocol is related with

(A) Soil conservation

(B) RET species

(C) Biodiversity

(D) Reduction of greeﬁ house gases

The process by which organisms with different evolutionary history evolve
similar phenotypic adaptations in response to a common environmental
challenge.

(A) Non-random evolution

(B) Convergent evolution

(C) Natural selection

(D) Adaptive radiation




l39)

40)

41)

42)

43)

44)
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Soil water available to roots is

(A) Surface water (B) Hygroscopic water

(C) Gravitational water (D) Capillary water

Which of the following is considered as hotspot of biodiversity in India.
(A) Indo-gangetic plain - (B) Estern Ghat

(C) Western Ghat (D) Aravallihills

Claviceps purpurea is causal organism of

(A) Smut of barley (B) Ergotofrye
(C) Powdery mildew of grapes (D) Rust of wheat

The first transgenic plant to be produced is

(A) Tobacco (B) Brinjal

(C) Cotton (D) Rice

Variation between individuals due to single base change is
(A) ESTs (B) Contigs

(C) SNPs (D) Transversion
DNA finger printing relies on

(A) Difference in pattern of genes between individuals
(B) Difference in order of genes between individuals

(C) Difference in junk DNA patterns between individuals
(D) Allofthese
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Genetically engineered ‘Golden rice’ synthesize large amount of

(A) VitaminK (B) Beta-carotene

(C) Vitamin-C (D) Beta-galactosidase

Which is the technique suited for the separation of large DNA fragments.
(A) AGE (B) PAGE

(C) PFGE (D) SDS-PAGE

Osmium tetroxide is used in electron microscopy as a

(A) Precipitator . (B) Mordant

(C) Staining agent (D) Fixingagent

RFLP involves

(A) Used to identify a specific protein
(B) Used to identify a specific DNA

(C) Used to identify a specific RNA

(D) Used to identify both DNA and RNA

All the following are thermostable polymerases except
(A) Taq polymerase (B) Ventpolymerase
(C) DNA polymerase III (D) Pfupolymerase

NMR is the study of absorption of by nuclei in magnetic field
(A) Radioactive radiation

(B) Microwaves

(C) IRradiation

(D) Radro frequency radiation
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PART - B

This part shall contains five questions, each question carrying ten marks.

I 1)

2)

3)

4)

3)
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[5 x 10 = 50]
Explain in detail about evolution of sporophytes in Bryophytes.

Enumerate the differences between cyclic and noncyclic
photophosphorylation.

Give an account of manifestations of heterosis and genetic basis of
heterosis with an example.

Mention different kinds of succession? Explain the process of Hydrosere.

Explain principles, sample preparation and staining techniques of scanning
electron microscope.

QOO0
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